N & 0l & AF & F Al A

20118 S04t LBs|IH 224 ~ EAA
M EHA
MR 3N BAYBMHIA 29
el St ESSEAAY (&9 EH
- _ _ HE —~
SN -ZH-S2A(EA) - NRAY - BES Off &4 07|/§°ﬁ“ Hnsz
SR 9,950,521 5,870,701 4,079,820
= 941,980
Jl 580,359
= 5,752
= 287,258
= 8,135,172
zlo BHOAEMHIA 2Y 8,406,050 4,277,909 4,128,141
= 909,153
) 274,239
= 2,500
S 163,867
= 7,066,291
St EZEAHAY 92,897 107,542 A14,645
= 47,735
= 20,855
= 24,307
SO R HEA ALY 4,403 4,296 107
= 2,202
= 660
= 1,541
307 2120l A 4,403 4,296 107
= 2,202
(= 660
= 1,541
01 SI2€ <2l 4,403 4,296 107
NEAXNABHAMLAUELEERY 4,403,000 4,403
= 2,202
S 660
= 1,541
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80,780
40,390
20,195
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N14,220
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MW

39,000
19,500
9,750
9,750

36,480

2,520

04

1,625,000& x2H 123

MW

39,000

39,000
19,500
9,750
9,750

36,480

2,520

201

M

25,740
12,870
6,435
6,435

47,880

A22,140

01

100& *105+4,8000H

2,800,000 x45

200,000& »53| «6H

MW H

W

25,740

4,800

2,400
1,200
1,200

11,200
5,600
2,800
2,800
5,000
5,000
2,500

47,880

A 22,140
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01 I 2€ 2l 6,240 0 6,240
NEYNEL2AY L RPE=3AE 6,240,000& 6,240
= 3,120
(= 1,560
= 1,560
SoltAY JIsEY 7,714 8,246 A532
= 5,143
= 2,571
405 AHoHESHI 7,714 8,246 A532
= 5,143
= 2,571
01 HMHESEFSHI 7,714 8,246 A532
1)&telekAle JIsE2 (&HI7Y) 7,714,000 7,714
= 5,143
= 2,571
SHEASMEIAINE ALY 6,165,629 1,515,350 4,650,279
= 861,418
p) 3,450
= 107,678
= 5,193,083
22012 A EHI0Hd 1,292,130 1,411,350 A119,220
= 861,418
(= 107,678
= 323,034
401 AIEHIZ R0 913,581 1,144,856 N231,275
= 609,054
S 76,132
= 228,395
01 Al£Hl 891,813 1,120,100 N228,287
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= 478
= 1,376
NA0IESEATZ A OIFAFZ ALY 5,500,000 5,500
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== 478
= 1,376
NS S EAHTZ A OIMAFALY 5,499,000& 5,499
= 3,646
(= 478
= 1,375
03 A&=20HYI 5,269 7,604 A2,335
NOIACSEAHTZ A O|MAFALY 1,756,000& 1,756
= 1,164
(= 153
= 439
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Cel sHEAZHHIAIMNE ALY
SH - EB - S(BH) - MBAY - BES 0l & 24

= 20,000

& 2,500

= 7,500

NHISHBAX A CSHH B2 3,701,000& 3,701
= 2,467

= 308

= 926

NEZHBAX L ASZHH B 30,000,000& 30,000
= 20,000

= 2,500

i 7,500

NEMHBAX A QIS HH B2 16,500,000& 16,500
= 11,000

= 1,375

= 4,125

NoHBAX A QS HH B 30,000,000& 30,000
= 20,000

< 2,500

i 7,500

NAQAHEAXIA QS EE B 1,500,000& 1,500
= 1,000

= 125

= 375

NEAUHABAX A QSHH B 28,001,000& 28,001
= 18,667

< 2,333

= 7,001

NN HBAX A S HE B 23,000,000& 23,000
= 15,333

& 1,917

i 5,750
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30,000,0002 30,000
2 20,000
[ 2,500
2 7,500
oz 22 23,000,000 23,000
2 15,333
= 1,917
2 5,750
oz &Yl 22 23,000,0002 23,000
2 15,333
= 1,917
2 5,750
SoESA 4,866,599 104,000 4,762,599
201 44,400 0 44,400
01 44,400 0 44,400
44,400
A BEEAC 44,400,000 44,400
401 Al&H 4,822,199 104,000 4,718,199
01 Al&H 4,652,835 104,000 4,548,835
NAGIREAHA O|MAIS Al 4,108,479,0002 4,108,479
NEAL OIF ERTA} 338,356,0002 338,356
NEAA ZABA] 150,000,0002 150,000
NEAL OHKIRE A A 6,000,000 6,000
NEAA O2HY = 50,000,000 50,000
02 22l 149,601 0 149,601
NAGHREHA O|FAIS A 149,601,0002 149,601
03 Al&Z£ 0l 19,763 0 19,763
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NAZEALOMAZAY 19,763,000& 19,763
2012 PCE Zet 7= 6,900 0 6,900
Jl 3,450
= 3,450
405 XtotE SHI 6,900 0 6,900
P 3,450
= 3,450
01 Mt ESFSHI 6,900 0 6,900
NE2HA PCE LIt A ALY 1,380,000& »5CH 6,900
Jl 3,450
= 3,450
2012 2224 1,398,699 1,827,698 428,999
LAY HRFA 8,060 8,060 0
202 (4Hl 8,060 8,060 0
01 =LHAOYI 8,060 8,060 0
NEAX L, T A& 70,0003 *36H A 23] 5,040
N322 Az uiszd 70,000 »2H 22 +33] 840
NsHEAZMUIANESAL FE 2,180,000& 2,180
224 22 148,950 493,395 A344,445
201 Yere | 106,620 111,430 ~4,810
01 AtR2teld] 30,620 31,620 A 1,000
1) et=24] 12,250
Q)EI| AN =2 160,000& ~ 122 1,920
)LSBHHEIIEFNBE T 100,000& «12& 1,200
2)2 2 MUl AN & H & AR E 100,000& =108 1,000
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SH: EHA
Mz BAHYSMHA 2
ol 202 222 (chel: &3
SN EHE - S(BH) - MM - BLS 04 &t o8 e RS2
YA 306,000 *1CH 306
L2t 500, 000& = 14CH 7,000
2)XbE XA 6,430
RPN 400,000 +2CH 800
3) YAt 30,0002 = 1CH 30
=2t 400,000 = 14CH 5,600
NAIE ZHI KX I 27,798
2) B A X 11,498
2L 3,795& %1,268m’ 4,813
EAHX L 2,990& *1,565m 4,680
JNBATZ A 1,005& +1,995m’ 2,005
)R FHIANLEEER 1,800
NEAHA 150,000& 123 1,800
Q)BAYBEZNHRIANE S 1,000,000& x12& 12,000
Q) EHTY(ZEIH, BA) 50,0003 *10CH 53] 2,500
1) Xtk ) 11,831
2)SEXt 3,000,000 = 1CH 3,000
2) 7S Xt 4,265,000 = 1CH 4,265
)Xt 4,566,000 1CH 4,566
307 QI2+0IA 42,330 57,115 A 14,785
01 SI2€ <2l 42,330 57,115 N 14,785
NYBETNRZAZ (MY) 7,200,000& 7,200
NN AZ (MY) 14,400,000& 14,400
NRY, FUATHAHIAE 4,410,000& 4,410
NS HAHIAZE 840,000& 840




SH: EHA
g3 g 2AA=HHIA 29
Rl 2012 2e2Y (el &
A B S(E) - NRAY - BES 0f & o e HIDZ2
ALK& & H 2 E 1,080,000& 1,080
NeUXNZENENZALE 3,600,000& 3,600
NASANLELAZZES(FA, €2IES) 3,600,000& 3,600
DX-HdES W= H 7 7,200,000& 7,200
2L AEA2H 2 1,241,689 1,326,243 84,554
101 Q12| 14,625 24,000 A9,375
04 JIZHZZ2ANSES 14,625 24,000 9,375
NS HLASHLHAS T2 (BAHX L) 14,625
222 35,0003 122502 8,750
20124 8,750,000& %1/3 2,917
2)N2A2 R 6,560 * 1B« 10AI 2F+ 122 788
)FRSFIIN=E 35,0003 12 »52== 1,820
Q)ARERINHE 35,0002 110 350
201 2et=g| 256,384 265,765 A9,381
01 At22t2lH 88,228 97,609 A9,381
1et=ZH] 17,848
2)ALR 2SI 100,000 * 1404 2= 1,400
2)2AHX A SEESHI 100, 0003 * 1404 A 1,400
2)2AX A HIEHAH 1,000,000& 1,000
2)ZFgHII2+H 2t 80,0002 * 1494 2= +92 10,080
2)QUHMHIXNE AT 468,000 468
) EEEREZ2OH S22 250,000 * 1400 & 3,500
nags¢ 62,400
2)EAIE A 2EH] 200,000& »26 0 2=+ 12E 62,400
1) =4l 5,040
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SH: EHA
I3 2y BAOY=MHHIL 29
el ©20| 2 Beled el
SH RS (EA) - MRAY - e e 2
2) At ==cltl 250,000% = 14CH 3,500
202 O4Hl 201,000 216,603 215,603
01 =LHOHI 36,000 39,603 A3,603
N3SEA2A 2eize] us 70,0003 x4 H x4 1,120
NESSEAAA D= 70,0002 «3H x1292] 27,090
NEANAHRE BEns 2,050,000 2,050
N3SEAAMN B0 70,0003 «20H x2 2,800
NeR SSEHAA HARU=F 70,0003« 14 3 2,940
02 R0 165,000 177,000 A 12,000
NEANALIZ A 22K 250,000 x55F x 123 165,000
307 2120l A 769,680 819,875 Ab50,195
01 92+ =Hl 769,680 819,875 A50, 195
NEAX A 769,680
)L A AT (MY) 660,000,000& 660,000
)X BN AZTLHE 36,000,000 36,000
)t AZTAME L (Al 36,000,000 36,000
)L ANLEAZES 37,680
3)ZFAtD 10,080,000 10,080
3LI2E 2,520,000& 2,520
3)EXH 1,680,000& 1,680
3AMXEM(ZEHI=E, HE 4,200,000& 4,200
J)seINEES (B2, Y 2,400,000& 2,400
JeteEE A28 8,400,000 8,400
NSAZFXNLASE 8,400,000 8,400
XEE Y= AdZ2A2 MY 447,447 463,117 15,670
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E’/\_Iz H2o4{ A
=
-

=L RENN

SRl Ot AL 2tel AL (chel: &3
- _ _ NUE &
SN H-SR(EH) - NRAMY - B 0] &k o G I RE2

= 45,879

Motetetir 2el 8,602 8,602 0
P 4,301
< 1,290
i 3,011

201 et 8,602 8,602 0
P 4,301
= 1,290
= 3,011

01 AtR22/Hl 8,602 8,602 0
DOt X 22 8,602,000& 8,602
J| 4,301
= 1,290
= 3,011

2Xzdl XN 119,908 119,908 0
P 59,954
= 17,986
= 41,968

307 QI2t0IA 119,908 119,908 0
Jl 59,954
& 17,986
= 41,968

01 A2 F =4 119,908 119,908 0
N X ZHIXI 119,908, 000& 119,908
P 59,954
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SN - HE - SI(E) - NRAY - BAS 01l &k o e =2

= 1,040

= 9,160

= 520
12 JIEtEA S 10,720 0 10,720

NSARIMNEZLIHE 40,0003 221 +2 U x 12 1,920

= 1,920

1) 20l KHALE 9 A 2 A 4,800

= 4,800

NeSASAUIKSA 1,920

= 1,920

NOelolEsHel e d 2,080

= 1,040

& 520

= 520
HYR2AZEI(EAHL) 226,826 278,205 251,379
ol 2| 191,226 190,499 727
el | 191,226 190,499 727
101 el 191,226 190,499 727
01 B+ 191,226 190,499 727

DAt 2244 191,226

2)8AH A 54,929

3)52 9,796 x1H+20Al 2tx 123 2,352

3)6=2 8,312 x5H »20Al 2tx 12 9,975

7= 7,457 x23B *20 Al 24+ 123 41,163

3)9=2 5,993 x1H x20A| 2Hx 128 1,439

2)BAXNALRZ A 136,297

3)6= 8,312 x 12 +30Al 2+ +128 35,908
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SH: EHA
M #Y2LIH(EHL)
Ehel: I 2| (98
- _ _ HNE
SN -ZH-S2A(EA) - NRAY - BES Off &4 07“‘;5? Hnsz
3)7= 7,457 3«28 *30 Al 2128 75,167
3)8= 6,682 «6H «30Al 2tx 12 14,434
3)9= 5,993 x5H x30Al 2tx 123 10,788
Jl2dH| 35,600 87,706 A52,106
Jl2dd(EAL) 35,600 87,706 A52,106
201 LEH2HH| 16,200 46,570 230,370
01 AtS2t2itl 16,200 46,570 /30,370
1) et=2t] 12,000
)24 = A2l 302 %400, 000 12,000
1)=& 4,200
2)BAUAHZ=E M AH] 7,000+30F x20 4,200
202 O 8,400 30,336 A21,936
01 2SI 8,400 30,336 A21,936
NEAHERFZ 0 70,0003 *30H x4 8,400
203 ESF =&l 11,000 10,800 200
02 HIMMP =L 3,440 3,360 80
nNEAL 40,000& 86 3,440
04 EA2SEFFAH| 7,560 7,440 120
NEHL 7,560
2)Z 302016t 350,000& «12&8 4,200
2) 302 =1t 5,000 «56H x 128 3,360
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